Maths Homework

Tricky:

1) 345+4b62-=

2) 4567 +321=

3) 6543 -2354-=
4) 9000 - 2350 =
5) 3421-2120-=
6) 4563 +4398 =
7) 3509 -2310=
8) 9567 +2341=
9) 34209 + 23151 =

10)8000 - 2541 =

Trickier:

1) 2314 + 456 + 21890 =

2) 5000 - 3421 =

3) 20000 - 3452 =

4) 321+ 6528 + 25414 =

5) 234=500 -

6) = 5432 + 67251 + 451
7) 45678 - 3287 =

8) 3452 +9852 + 8971=

9) ___=45000- 32160

10)8759 + 21058 + 20001 =

Trickiest:

1)432 + 6789 + = 12000

2) 5000 = 4321 +

3) 23457 = 2501 +

4) 50000 - 2578 =

5) 6543 + 32176 = 41527
6) = 43267 + 342 + 10008
7) 3425 + 321+ 99852 =

8) 80054 - 3254 =

9) 478000 - 34581 =

10)781 + 90081 + 9845 =



Maths Homework - Answers

Tricky:

10) 345 + 4562 = 4,907

11) 4567 + 321= 4,888

12) 6543 - 2354 = 4,189
13) 9000 - 2350 = 6,650
14) 3421-2120=1,301

15) 4563 + 4398 = 8,961
16) 3509 - 2310 = 1,199

17) 9567 + 2341 =11,908
18) 34209 + 23151=57,360

10)8000 - 2541 = 5,459

Trickier:

10) 2314 + 456 + 21890 = 24,660

11) 5000 - 3421=1579

12) 20000 - 3452 = 16,548

13) 321+ 6528 + 25414 = 32,263

14) 234 =500 - _266

15) __73,134 = 5432 + 67251 + 451
16) 45678 - 3287 = 42,391

17) 3452 + 9852 + 8971= 22,275

18) ___ 12,840 = 45000 - 32160

10)8759 + 21058 + 20001 = 49,818

Trickiest:

1432 + 6789 + __ 4779 = 12000

2) 5000 = 4321+ _679

3) 23457 = 2501 + _20,956

4) 50000 - 2578 = 47,422

5) 6543 + __2,808 32176 = 41527
6)__ 53,617 = 43267 + 342 + 10008
7) 3425 + 321 + 99852 = 103,598

8) 80054 - 3254 = 76,800

9) 478000 - 34581 = 443,419

10)781 + 90081 + 9845 = 100,707



